

$$(6x+28)^{1/3} = 2 + (6x-28)^{1/3}$$

$$b = (6x-28)^{1/3}$$

$$(2+b)^3 = (4+4b+b^2)(2+b) =$$

$$= 8 + 8b + 2b^2 + 4b + 4b^2 + b^3$$

$$(6x+28) = b^3 + 6b^2 + 12b + 8$$

$$(6x+28) = b^3 + 6b^2 + 12b$$

$$(6x+28) = 6x-28 + 6b^2 + 12b$$

$$48 = 6b^2 + 12b$$

$$8 = b^2 + 2b = b(b+2)$$

$$0 = b^2 + 2b - 8$$

$$b = 2$$

so

unsub

$$2 = (6x-28)^{1/3}$$

$$8 = 6x - 28$$

$$36 = 6x$$

$$6 = x$$

check solution

$$x=6 \quad (36+28)^{1/3} = 2 + (36-28)^{1/3}$$

$$64^{1/3} = 2 + (8)^{1/3}$$

$$4 = 2 + 2$$

Solution checks.

Problem #84

PG 25

Mathematical Quickies
Charles W. Trigg